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Blood, which is not spilt as water is not Machshir

OVERVIEW

Water is 7w food to be xmw Papn.' The 70 writes” regarding blood 7871 %y
o132 1129wn that blood is likened to water that it too can be 7°wdn. This applies only
to blood that is 22> 79w1, however 2°w7? 07 which is received in a vessel to be
sprinkled on the ram, and is not °»3 W1, 1s not won. Our MdOIN explains why
this exclusion does not apply to 7% 77°11 07 which are also not o°2 7pw1.

nooIN asks:
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w987 2Py 2" asked if indeed o7, which is not 2> W3, is not °WIn, so the
27 of an undomesticated animal or a bird, which requires covering with earth,
should also not be 9sw>mn -
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For since these bloods require %12, the bloods are not considered 2°»> 75w as

the Xn) states in 2777 %19 PD -
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‘You say that a o1 is included in a 77272 regarding the signs of Mw>; let us

also say that a 7772 is included in a 7791 regarding the rule of 077 »9%2’ -
- 79519 79W) 2PUN RY 79N 0T NNYN ‘D199 1399WN YINA YY NYP 90N 2IWM

And the X723 there answered; ‘the verse states 29m2 125wn PN Y5 S0 just as
o does not require M0°> the same applies to 7172 07. It is evident that 51 a7

which requires 193 is not considered 232> 95@1, so it too should not be 2w just as 07
o°w7p (which is not @n3 7ow3) is not PwIn.

"'See 79 ,x* ("1nw) X7 that Xnv> oo 1HY KD WK 2980 WK 2987 991 and 1 ,X> which states 511 ¥1 5y 20 10 o9
0% X177 X 1oY an?amn.
2 19,2 (7%7) o7
> A n is an undomesticated animal (such as a deer or an antelope) as opposed to a 72 which is a domesticated
animal (such as a cow or a goat).
* When the 770 writes the N1IW> 10 of 773 719¥n and 7075 NOI9A (in A, [PAw] XM and in 1,7 (AX7) oM7) it
mentions only nn72. Nevertheless we assume that a ;711 is included in the N17w> *12°0 laws of a nm2.
> We should require 0771 "0, not only by (an m and) a 1, but also by a .
% The 109 of @2 M2oWN cannot refer to 7°n a7 for the 770 clearly requires *10°2 by (Mw1) 7 a7; therefore the P109
must be referring to %72 07. [Alternately the P09 there discusses 22w °2109 which is only a n72.]
"If 7°n 07 is considered 03 T5w1 (despite that it requires "10°2), how is 1112 07 excluded from "0°> based on the 2109
of o> 1135wn. See ‘Thinking it over’.
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mooIn responds:
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And this is not a valid question, for any 27 which is 22> 9ow1 to the ground
and is not required to be received in a vessel, such as ;°r7 27 -
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Is likened to water regarding “w>:1, and it would have been proper to compare
7°r o7 to 2°» even regarding %o°> (that 7’11 07 does not require "0°2 like 7m72 07
since it is 2°'n% W) were it not that the 105 told us clearly that °n a7 requires "10°3.

SUMMARY

The exclusion from being 8™ 922 2wan (based on the P05 of 1OWN PRI 7Y
o°nd) 1s only regarding 2°w7p 07 which is required to be received in a vessel, but
not to 17°11 07 which is spilt yIX? but merely requires "10°3. The law of »19°2 by °r 07
is despite the fact that it is 2’12 79W3, since the 77N explicitly requires it.

THINKING IT OVER

What is the difference in understanding the exclusion of 2> 155wWn yR7 ¥
between the w"158» 1";7 (which caused him initially to exclude 711 7°n1 07 from
w2), and Mo0IN conclusion (which includes 7¥1 71°7 07 in Wa)?

¥ The only a7 which is not 7°w2n (based on 03 1129wn) is o7 which needs to be received in a vessel (2°w7p O7), but
not 17° 07 which is 23 yX? 7ow1 (but [merely] requires »10°3 afterwards).
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